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BRI 13,307,125 + 315,833 13, 622, 958
EEAGE 13,307, 125
EERE 315,833
Z DR 13,307,125 x 53.85% ( 35% = (1 — 35%) ) 7,165, 886
SRR 13,622,958 + 7,165,886 20,788, 844
—REEEE 20,788,844 x 53.85% ( 35% = (1 — 35%) ) — 3,636 11,191, 156
KBS 20,788,844 + 11,191,156 31,980, 000
B FEZET 31,980,000 x 10.00% 3,198, 000
EBERREM 31,980,000 + 3,198,000 35,178,000
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1 FHE# R .00 415, 450 415, 450
b
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RitERE 198, 300
2 BAE .00 198, 300 198, 300
=
BIHBORN %575, 3%
PC-18 1,013, 700
3 PC-18 .00 1,013, 700 1,013, 700
=
PC-18 #L5RED 506, 850
4 PC-18 ¥haRER .00 506, 850 506, 850
=
PC-15~17 2,027, 400
5 PC-15~17 .00 2,027, 400 2,027, 400
=
PC-15~17 HR3RER 2,027, 400
6 PC-15~17 HLIRER .00 2,027, 400 2,027, 400
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ESEE 5,742, 875

PC-18 1, 558, 300

7 REERL .00 577, 750 5717, 750
=

8 WEHE .00 402, 900 402, 900
=

9 BB TG .00 337, 900 337,900
=

10 BMETEDERE .00 239, 750 239, 750
=

PC-18 #i3RER 1,067, 975

11 HEER .00 288, 875 288, 875
=

12 $EHE .00 201, 450 201, 450
=

13 BiEs TEMRET .00 337, 900 337, 900
=

14 BETEOERE .00 239, 750 239, 750
=

PC-15~17 1, 558, 300

15 RHEER .00 577, 750 571,750
=

16 BEHHE .00 402, 900 402, 900
=

17 BB TIEMRET .00 337, 900 337, 900
=

18 BIEIBOHEE .00 239, 750 239, 750
=

PC-15~17 #L3RED 1, 558, 300

19 EEER .00 577, 750 571,750
=

20 BEHE .00 402, 900 402, 900
=

21 BEBR TREMRES .00 337, 900 337,900
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22 BEITEOHEE .00 239, 750 239, 750
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ERIiE 117, 400
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25 RREE 1.00 188, 300 188, 300
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26 HBE 1.00 148, 500 148, 500

=
R 451, 350
HEEER 433,550
2] HEEER 1.00 433, 550 433, 550

=
AFARRERDERK 17, 800
28 AFRARREROER 1.00 17, 800 17, 800

=
EEEE 315, 833
EHEAME 123, 833
29 EHBRAME 1.00 123, 833 123,833

=
EBHRRRE 150, 000
30 ¥BHEME 1.00 150, 000 150, 000

=
BIREE 42,000
31 EIIARAE 1.00 42,000 42,000
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HEE
A 1.00 70, 900. 00 70, 900
F{EHRAm GRED
A 1.50 62, 200. 00 93, 300
HEm (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1EZRERN  1.00K 415, 450. 00 415, 450
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FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 1.00 35, 600. 00 35, 600
& B 1E%8ERH : 1.00=C 198, 300. 00 198, 300
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FEHAR (F%E)
A 4.50 62, 200. 00 279, 900
HER (A)
A 4.50 55, 200. 00 248, 400
HER (B)
A 6.00 45, 300. 00 271, 800
HER (C)
A 6.00 35, 600. 00 213, 600
= it YE¥REH 1,00 1,013, 700. 00 ,013, 700
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A 2.25 62, 200. 00 139, 950
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A 2.25 55, 200. 00 124, 200
HEm (B)
A 3.00 45, 300. 00 135, 900
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A 9.00 62, 200. 00 559, 800
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A 9.00 55, 200. 00 496, 800
HER (B)
A 12.00 45, 300. 00 543, 600
HER (C)
A 12.00 35, 600. 00 4217, 200
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FEHAR (F%E)
A 9.00 62, 200. 00 559, 800
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A 9.00 55, 200. 00 496, 800
HER (B)
A 12.00 45, 300. 00 543, 600
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A 12.00 35, 600. 00 427, 200
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HEm (B)
A 1.50 45, 300. 00 67,950
HEh (C)
A 5.00 35, 600. 00 178, 000
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A 10. 50 31, 600. 00 331, 800
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%58
&% BEHE 14y
% b R - KT B = B O{f £ H %
HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 2.50 35, 600. 00 89, 000
Hiftg
A 8.50 31, 600. 00 268, 600
& B 1E%8ERH : 1.00=C 402, 900. 00 402, 900
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FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
= it YE¥REH 1,00 337, 900. 00 337, 900
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HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.50 45, 300. 00 67,950
HEh (C)
A 2.50 35, 600. 00 89, 000
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HER (B)
A 0.75 45, 300. 00 33,975
HER (C)
A 2.50 35, 600. 00 89, 000
Hiftg
A 5.25 31, 600. 00 165, 900
& g EBER - 1. 00K 288, 875. 00 288, 875
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HER (B)
A 0.50 45, 300. 00 22,650
HER (C)
A 1.25 35, 600. 00 44,500
Hiftg
A 4.25 31, 600. 00 134, 300
& g YEEBEA - 1. 00K 201, 450. 00 201, 450




R &I/ \vr—2

MEER—NT AU (B2 RS (L= FEIEHE

5 .13
B . BIRR TREMRET 1XEY
£ [ R - KT B = i £ w =
F{EHRAm GRED
A 1.50 62, 200. 00 93, 300
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
HEh (C)
A 2.00 35, 600. 00 71, 200
& &t 1EZ%EBER - 1.00K 337, 900. 00 337,900
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HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 1.50 45, 300. 00 67, 950
HER (C)
A 2.50 35, 600. 00 89, 000
& g EBER - 1. 00K 239, 750. 00 239, 750
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HER (B)
A 1.50 45, 300. 00 67,950
HER (C)
A 5.00 35, 600. 00 178, 000
Hiftg
A 10. 50 31, 600. 00 331, 800
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A 1.00 45, 300. 00 45, 300
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A 2.50 35, 600. 00 89, 000
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A 8.50 31, 600. 00 268, 600
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F{EHEm (555
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.50 55, 200. 00 82, 800
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A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
& B 1E%8ERH : 1.00=C 337, 900. 00 337, 900
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A 1.50 55, 200. 00 82, 800
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HEm (B)
A 1.50 45, 300. 00 67,950
HEh (C)
A 5.00 35, 600. 00 178, 000
i &
A 10.50 31, 600. 00 331, 800
& B 1EZ%EBER - 1.00K 577, 750. 00 577,750
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HER (B)
A 1.00 45, 300. 00 45, 300
HER (C)
A 2.50 35, 600. 00 89, 000
Hiftg
A 8.50 31, 600. 00 268, 600
& g EBER - 1. 00K 402, 900. 00 402, 900
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A 1.50 62, 200. 00 93, 300
HER (A)
A 1.50 55, 200. 00 82, 800
HER (B)
A 2.00 45, 300. 00 90, 600
HER (C)
A 2.00 35, 600. 00 71, 200
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HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.50 45, 300. 00 67,950
HEh (C)
A 2.50 35, 600. 00 89, 000
& B 1EZRERN  1.00K 239, 750. 00 239, 750
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FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
& it 1EZ8EH : 1.00[E] 117, 400. 00 117, 400
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FEHAR (F%E)
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.00 55, 200. 00 55, 200
& it YEZERES : 1.00[E 117, 400. 00 117, 400
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HEE
A 1.00 70, 900. 00 70, 900
F{EHRAm GRED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
& Hi 1YEZRER : 1.00[E 188, 300. 00 188, 300
&5 :26
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% b R - KT B = i £ H %
FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 1.00 55, 200. 00 55, 200
& it 1E%8ERH : 1.00=C 148, 500. 00 148, 500
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FEHAR (F%E)
A 1.50 62, 200. 00 93, 300
HER (A)
A 2.50 55, 200. 00 138, 000
HER (B)
A 2.50 45, 300. 00 113, 250
HER (C)
A 2.50 35, 600. 00 89, 000
& it 1E%8ESN : 1.00=C 433, 550. 00 433, 550
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A 0.50 35, 600. 00 17, 800
& B 1EZ%EBER - 1.00K 17, 800. 00 17, 800
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= 1.00 123, 833. 00 123, 833
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=® 1.00 42,000. 00 42,000
& &t YEEBEA - 1. 00K 42,000. 00 42,000
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